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The Merciful one should have — 1911 7T92RY 7330 RIAMY 21N
written: ‘Give it to him and he shall eat it, and sell it’

Overview

The Xn>12 cites a NPY?nn how to interpret the 70 of [inN YW WK W9
1217 7191 X 799X (concerning a 779°21). According to 7°K» "1 the two words
of 712121 711nn refer both to a 72 and a °733; one is permitted to sell it or gift it
to either. However °"1 maintains that one may only gift it to a 71 and sell it to
a "33, not the reverse. >"7 argues that if the intention is as "1 insists, then
the 770 should have written *331% 7197 instead of *931% =1 W which
indicates a separation. It is apparent that if it would have been written 712311
then we would apply 71221 77100 to both a 73 and a »123. Our MdOIN discusses
various differences where there are indeterminate terms.

— 1959 9295 NIN 199W9T 710 KY 990 N5 51 INT ¥YUN
It seems that if it were written in this manner; we would have interpreted

this 2109 only as %'"9 interpreted it; that 777522 1°321 71°012 P2 °7317 TR 27 TN,

— 2115395 Y 221 (x,x0 ayen xaz) TYI NN 19
And similarly in @2 %78 275, concerning the terms n°390 w315 we apply
a7 Wi to both 703 and 2. Here too we would apply 21921 73100 both to the 23 and
the »101.

mooIn anticipates a difficulty with this presumption that the middle phrase can by applied
totally to both the preceding and the following subjects:
— 9595551 D)% 5293 TNYT XPYD IN 1929 (3,25 91 “PYITHA 199NRT N

And that which the X773 states in Pw1TP noon; ‘and the 3339 argue, if it

would enter your mind to interpret the verse as 3''5199, then -
- 41?? 239 NN DIPH NN DIPH NAXY 2910 NINNI 2INIY

The verse should be written 'JpT %15 nN977Y 2P0 N7 2P0 725w %pn'
(stand up on account of a 73w and respect him, stand up and respect

' The p105 would have then be read both as 719 72981 71100 131 73 and as *512 1M 729K) 710N,

% X121 says that the (12,719 [1772] X7p") P05 which states 799X 100 XY 1°2721 Twia 12 100 X2 1902 X' should
be read both as n°2721 w1217 100 X7 7903 P& and as 723X NN K2 127121 w3, The relevance is that both by
A5 and by 22K one transgresses two K> (that of w1 and n°27n) if interest is paid.

? The xn*™2 there cites a NP12nn between 1327 3" how to interpret the (29,0 [2w17p] Xp°1) 2105 which
states T 219 N7 Q1PN 72°W 197, According to 37777 the term jP7 in the 105 refers to a 0°>m p°1° while the
1127 maintain that it means an actual 7 (not a 2°om P°1).

* The 1127 argue that if the p109 is referring to two different people a 72°w and a 2°>m p>»* it should repeat the
commands of N7 2P0 for each of them.
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the presence of a J?7);’ indicating that the phrase n177 230 (when it is written only
once) cannot refer to both 72°w and 3p71. This seems to contradict both the X713 here
(where 712m1 71100 refer to both 7211 73) and the X773 in PP (Where n°2am w1 refer to
both Y281 703).

mooIn responds ; the reason N7 2120 (one time) cannot refer to both P11 72°W -
— DIPHN 7Y XY 239 NPIWHY 299X 72U XY NN PYIT DIVN 19N

That it because the expression 'n977' (and you shall respect) is not
applicable to the word ®upn, and similarly the expression %® is not

applicable to the word "2v9n. The grammar does not allow us to apply both mnw?
to both subjects. Therefore the only way the terms n77m 2N can refer both to 72°w *19n
and 1p7 "19 is if they are written twice.3

mooIn responds to an anticipated difficulty
— 918 0P Zr1Iwn Hann 299K Ty Ay9n 10 PRT IR 130

And concerning the five 2°p02 which are indeterminate, including nNNw

QP TP MR NN, where we are not sure whether to read these words with the
preceding or following words; seemingly they should apply both to the previous term and
the following term as we say here and by mat

mooIn responds:
— NNNYN IN DIYHIN NP 281D ONNT INID DINY PN

3 The lesson from n77M o should be than when there is a dual phrase (such as 71221 7300 or N2 TWw1)
sandwiched between two subjects (such as >33 73 or 72181 7|od) that the first phrase (7ann or qwa) refer to
the former (73 or 702) and the second (1127 or N*27N) to the latter (*733 or 721R) as it is by n777 03N See
‘Thinking it over’.

%It is grammatically incorrect to say N77m (21pn) 72°w *197. The word N7 is used in conjunction with the
word °19; not *197.

"Itis grammatically incorrect to say 12°w °15 0Ipn; rather one says 172w %197 2120 (or QPN 72°Y 191).

¥ Even though the 05 will still be grammatically incorrect, nevertheless if the 770 would write both 2pn
n7m twice there would be no choice but to apply each one for 712°w and 1p7.

% 117 pPwRI2 reads 131 2°0°N XY ORI NRW 200N OX X977; it can be read NXW 2°0°N oX X277 where NXW means
forgiveness, or it can be read 2°v°n X7 oX) NXW where NXW means bearing a sin.

041 ,n (°n”1) NWRN2 reads "3 OOR IR W PY A1 DORA D5 it can be read IR MW 1Py referring to the
M of 02w who is 117X (a descendant of 1¥13) or D9X NN (cursing the wrath of 191 1wnw).

Ty r (mHw2) mnw reads 131 281 23K MR PYRYA onYA KXY; it can be read I ponya ona, the fight should be
tomorrow. Or the fight should be today and 2%1 *>1X 71 (there is no need for my prayers today).

1295 ,72 (77917N) Mnw reads 7°7791 7°IND2 QYTPWA D2 VAN 771302 it can be read 0°¥°23 AY2IR 771N
2>7pwn that only the o°y°23 were 0°7pwn (adorned with almond like figures) or 11°7791 7°09 *7pWwn (only
the 0°r191 DN were DTIPWn).

B ,R? (72°1) @°127 reads "3 73N 7717 QYT OPY TRAR OV 20W 37 AW PR ' MR, it can be read 2y 20w 37
a1 7°nax (alluding to @°nni1 N> hN), or 1IN 711 ava oY (the simple interpretation).

1 See (X"2w17 Moo and) WK MPOMN.
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That situation there does not apply here; for there the indeterminate

word can refer to either what is previous or to what follows -
— 1INY 993N IN NYIND AN 229 281 RD 119990 NI DAN

However here both terms (71100 and 7127) cannot refer only to a 23 (for

then the word >1721 would be extraneous) or only to a 5921 (for then 13 would be
extra); it must refer to both a 73 and a 155991, The question is only whether they both refer
to a >1211 73 or that 713nn refers to a 73 and 7127 refers to a *21.

M5 continues:
— 1031 yyasNa AROLNN BT JN9N NPYY 533 ININ 1Y (v, 12 9m *OINATT 72 D92

And in the second P9 of 272t ndon there is a dispute among 2°Kin
concerning the 105 of N1 WaxNR2 nXWURT 272 37277 7P (and the 3772 shall

take from the blood of the nxur with his finger and place, etc.) -
— 193957 NNYPYN IND NPT NOVYST DIVN NIPNIN XYY NNYPYN IWASN YPINT NIIN

Some™® refer the word 1waxx to the taking of the blood and not referring to
the placing of the blood on the nam; because according to the simple

meaning of the verse, the word 1w2xX1 is referring to the word np?y which

precedes it -
— NPPIN XD PINNRIT NININ ND ¥7INT NI'N)

And there are those who refer the word w2¥X2 to the word I3y which

follows it, and not to mm°p% which precedes it -
— 7Ya¥N3 NARN MNP 5Y NN 990 01 HNPYI XIINK KNIITA NNIYNT DIUN

Because we find in another place where it is written ‘and you shall take
from the blood of the ox and place it on the corners of the altar with

your finger, where -
— PIMIN YAIN NPT

The finger is referencing the ;135n1; therefore it is logical that here too the word
Y2XX is referring to the 71n1 -
— NPT ROWYAI NANYPIN 1D ¥YIWUNT DIYN 1NMNINN 1Y 171197 NIIN)

While others refer the word vaxx to both the 1°p% and the 71°n1; because it
refers to the 7m°p% as is indicated by the simple meaning of the verse -

15 The same is with n°27m Tw1 (that it cannot refer to only one; 103 or 31X), and with 7771 2PN (it cannot
refer to either 72’ or 177 exclusively); one of the (preceding or following) words would be extra.

' See p "7 X,X0 »"2 MoOIN that the question is why do we not include the word 1a¥xa among the (five)
¥571 on? PRT 0°P100. See footnote 20.

1795 ,7 X" The 109 concludes "3 723w nam mMap %y nmn.

'8 The dispute there is whether the 7m°p% (receiving the blood), or the 7°n1 (the sprinkling of the blood), or
both the 7P and 71°n1, must be performed with the right finger (depending what w2 is referencing).
995 w3 (;mxn) nnw.

3

TosfosInEnglish.com



21027 "7 '0I0 2,80 2°noD .7"'02

20 N9PINNR NP2 NOIAT 333 NIPNINY
And waxx also refers to 1°n1 as is evident from the other, previously
cited, pios.

Summary

The v1o77 077 PRW MRXPA 7 can refer to either the preceding or following
word(s) exclusively. However by 71211 71100 or n°23m w1 (and 077 2pn) it
cannot refer to either of them exclusively.

Thinking it over

Why indeed do we say that 71211 773300 (or n°27M Jw3) refers to both 7311 73
(and 991 n0d); why should we not break it up that 7inn applies to 23 and
7197 to ™121?*! Tt is not common that a single phrase should be read twice!*

0 See footnote # 16. Moo answers there (as he does here) that by 1agxa the simple meaning refers it to
1?71 while on account of the X1°nX X1p it refers to 11 (or both) therefore it is not similar to the MxapPn 7.
! See footnote # 5.

2 See W 11"7 2,7°P 1 @R Moo (or WK Moo here footnote # 78).
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